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Find the are of a figure similar to a figure its area is given after double the length of its sides or multiply it by a number.

Example 1, a

I:ul_gh...u'h.fl e ..A:g-_g:l a,2.1 ks
- 660
Find the volume of the cylinder . Example 1, 2, a
o gydeall poeo Aol b.a 1 Jts
668
Find the volume of the cone . Example 1, a, b
535 B s sl e A5l Jilas | 241 Jis
676
Solve real world questions to find the volume of a spherical figure. Example 1, 2
.ailghﬁylﬁhﬂaa_ﬂ-mqji- b,a.l Jts
691
Find the surface area of the cylinder. Example 1, a, b
il gl pda e Ao lis ool e A0l Bl 1 ¢ <2 Jta co1
Solve real- world gquestions to find the surface arae of the cylinder. Example 2, ¢
o g yieall dudiaell domlivall a «lqjta 702
Find the lateral area of a cone. Example 1, a
ogyeall phai dolona dgl c <28
.E"-QJ. _Eﬂ.u.l E (e ?{.3
Find the surface area of a cone. Example 2, ¢
caday g e gl el Jlabidicloas o 13 diln  Joss AT alin K phaue dolana e O a 1 Jta .
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9 = 735
Find the probability of an event. Example 2, b, c.d
Jdantall i gody ade Jlais] b S 3 s
10 [oaiallplsi= gada pic (] hoe e N 235
Find the probability of the complementaty of an event. Example 3, e
Laglay Oplig gyt JlansYlg 101 Lol gy 1
1 s = 746
Find the theoretical and the experimental probability and compare between them. 1
i e 48T o gfa Ayl sl elendll dges O 1,2
12 - - 758
To find the sample space of experiment from more than one event, 1,2
R yPRLTEES Iy 2SI | 3[4 Jta
13 = ——— { :' 758
Find the probability of compound evsnts. {Example 4} . 3
LYY ES I (1. B Y ST P P FEY L PR ENI 5,6
18 = : L - 759
Solve real- world problems on the probability of compound events. 5.6
Bllama dyoe’ S8eal daliciial [Say phgat aung a & [1ta
17 byt el 'y EILN L aeTy { ) 764
Describe amodel that could be used to simulate a given experiment. [Example 1) . a
S s e daK dayme 2SI A0 el b o« [3:2J8
16 o S st sl e ( il 781
Find the number of the cutcomes of an expariment consisting of compound events, (Example 2,3) , b
v daal Blysell s oBlan 3 =N sl 8 bolall slasal [5Jta)s F
17 790
Use permutations to find the probabilities of real-world situations . (Example 5) , F
Al __':j- il Nl 1.'-:_:1"3 JlaS=] s o b,c .3 J&s
18 = 800

Find the probability of dependent events,

Example 3, c. b




gz lplasinly die o5l AST 2 gazes Jlasl Lty o 4,5
19 818
Predect actions of a large groub by using a sample(Table). 4.5
Al EYna Ry B D plktanly AST A5 gazes Jlasl Lax OF (3:4J8s )
20 - 817
Predect actions of a large groub by using percent equation. {Example 4, 3)
epelis SR g i i g Coliall F’_ll‘:‘i ENES 2.3.a
21 825
Determine whether sampling methods are valid and whether the conclusion is valid. 2.3, a
wilahi diall o ddayl COE 13 Lag diall o o 2144 Jbs)
22 - 826
Determine the type of sample and whether the sample collection method is valid.. {Examples 4}, 1, 2
Celiledl o ayogl LS pledo gi AHEN sl Zall g (2 Jia)<b
23 . - m— - = - 837
Which of the following measuresis misleading to describe data? (Examples 2) , b
Lty Sl pai &l Jo SEU pea By @il Bad d0L0 COLial § dpamd a  [(1Jts)
24 . . B3b
Determine which graphs represent values in a particular way to influence the person following them. (Example 1) , a
»fnameall ol fly dbieall B rea pie sazes Jp ddgliall Coa i gl 3500 | geadda b:c [2:3) Jia
25 - i e — 851, 852

Which center measures is most appropriateto compare two data sets using line plots.

Examples(2,3) b, c
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Find the volurme of the opfinder . Example 1,2, &
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Bpdie (o 63 o, ) & o
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d)

a)| V=r(15%@8) cm’

B) V=r(L5)@®) en’ |

c)\ V =7(1.5)(8) cm’ ]

d) ‘ V = 2(1.5) 8) em’

A8l

L
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/" Y~ 8cm
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S
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Gl LA e Al

a)

5 e Qe e o QA Y gl A0 0 ) s o)

V =439.6 m3

V = 439.9c¢m?
V = 549.8cm3
V = 219.8 cm?

jJ}A;j\ b_)}q\

m

V=8mrx16 cm3

V =8m x (16)* cm?

V = 641 X (16)% cm?

V =647 X 16 cm?

.;.Ji_ghm‘:,f'i FEEN .A:_x.ji

16 cm

-Ls'l,hu“ﬂ FEEN ..L:«_;ﬂi

V =31 X5cm?

V = 3w x 25cm?

3cm I

V =91 x 25 cm?

5cm

V=971 x5cm3
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Find the volume of the cone . Examplel, &, b
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a) V =376.8in3
by V =565.2 in3
oV =1131in3
4|V =2512 in’

&J}A&j\ b_)}q\

A8 il LB (g AL

LQJL“E ‘_,-“l“ .L__,J&.n.“ P

3in.

a) v=36mm?3

b v =18t m3

o v=12mrm?3

d v=36m3

.hg):'n.q:i FEEN ..\:_.5':

v = 241 m3
v=12rm?
v = 8mm?
v =4 m?3
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Solve real world gquestions to find the volume of a spherical figure. Example 1, 2
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DL ponsm dorgl . ylal B Ly )5 golu Lo pdad JSLI Qg S S Dl .2
P PR PR ST | B T

dﬁ‘}AAj\DJ‘}A\ gyu\quY\MZAAM\&)M



A8 &) JLSA) e At

Aauagal 3,80 aaa sagl

3
a) V=ZXHX6X6X6 cm?®

)
b) V=§><n><6><6><6 cm? é
3 G
c) VZZXRX6X6 cm?
)
d) V=§KT{X6X6 cm3

.;._'u..'a_g.a.:l 3,50 FEEN .J%_gi

3
a) V=Z><:fr><10><10><10 cm?

4
b) V=§><1r><10><10><10 cm?3

3 /
c) v=1><n><10><10 cm3 10m

4
d) v=§><1r><10><10 cm3
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Find the surface area of the cylinder. Example 1, a, b

dpdie o eie 0 ) Q58 Dlgdauy) ey dolus amgl 1

Zm
’*14 cm—

10 cm

-

dd)a;j\b)}.o\ ggyu\J@»uY\Mzz\ﬁ‘)&d\:\u)M



A8l & LR e A

@ gbud gy febs dalua (8 Tem 3@l dabua g 23.9cm &fghul Lslal) Aaluall il 1)
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b) 2x239+7

o) |7+ 23.9

T
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Solve real- world questions to find the surface arae of the cylinder. Example 2, ©
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Find the lateral area of a cone. Example 1, a

o g yineld i) doelusgdl dovgl .1
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a) L.A.= 5 X 13mm?
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5 lem// E c) L.A.=3X 5
o) L.A. =25 X 13 XTmm smm /| _
5:_, - d| L.LA=3X5XTm
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a) LA .= 7(16)(10) cm’

b) |L.A.=z(16)+(10) cm’

¢) | LA = 7(8)(10) cm?

d) | L A.=z(8)(10) cm’
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Find the surface area of a cone, Example 2, ¢©
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Find the are of a figure similar to a figure its area is given after double the length of its sides or multiply it by a number, Example 1, a
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A8 <) LAY (e ALl

S.A.= 34 X 3 cm?

S.A.= 34 X 3% cm?
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S.A.= 34 x 3% cm?

S.A.= 34 x 3% cm?
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Find the probability of an event. Example 2, b, c d
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Find the probability of the complementaty of an event. Example 3, &
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Find the theoretical and the experimental probability and compare between them. 1

11 746
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To find the sample space of experiment from more than one event. 1,2
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Find the probability of compound evsnis. (Example 4) , 3

e o3l (Jl S B 350w jeall G
ald ) J..on gl 3 o damly i)
ﬂ“;hﬂr!d—hfﬁap 3‘_,‘."1

il JS als 3,50 i sl gl es]
dasiall B 5l 2gary Jlis! Lo

2 Lildl cals el gl §,3%)

dﬁ‘}AAj\DJ‘}A\ gyu\quY\MZAAM\&)M



Referenos]s] inthe Shudent Book

il Y el
ExmmpileExeroise
L a s Pl e O 3[4 Jta
13 = ks | ' 758
Find the probability of compound evsnis. (Example 4) , 3
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Solve real- world problems on the probability of compound events. 56
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Describe amodel that could be used to simulate a given experiment, {Example 1) ,a
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Find the number of the outcomes of an expariment consisting of compound events, {Example 2,3) . b
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Find the number of the outcomes of an expariment consisting of compound events, {Example 2,3) . b
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Use permutations to find the probabilities of real-world situations . [Example 5) . F
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Find the probability of dependent events. Example 3, ¢, b
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Predect actions of a large groub by using a sample(Table).
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Predect actions of a large groub by using percent equation. (Example 4, 3}
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Determine whether sampling methods are valid and whether the conclusion is valid. 2.3.a
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Which center measures is most appropriateto compare two data sets using line plots. Examples{2.3) b, c '
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